2-phase Stepping Motor

86 . 103H822[ ]
mm CIr. 1.87step
(3.39inch cir.)

Recommendable Driver
Refer to the page 7,17,27 and 45.

Unipolar winding

Holding torque at | Rated

- Resistance|  Inductance Rotor inertia | Mass(Weight)
2-phase energization |current

| Single shaft  |oatkstat] N-m (0ziin) MIN. |Aphese{0phase| mH/phase | xi0%gm(ozin2) | kg(lbs) |
103H8221-0441 | -0411 2.15(304.5) 2 |25 7.2 145(7.93) | 1.5@3.31)
103H8221-0941 | 0911 2.15(304.5) 4 |o62 18 145(7.93) | 1.5@331)
103H8222-0441 | 0411 413(584.8) 2 |40 15 29(1586) | 2.5(5.51)
103H8222-0941 | 0911 413(584.8) 4 o097 36 29(1586) | 2.5(5.51)
103H8223-0441 | 0411 6.27(887.9) 2 |56 24 442400 | 35(7.72)
103H8223-0941 | 0911 6.27(887.9) 4 [135 56 442400 | 35(7.72)

Bipolar winding

Holding torque at | Rated

- Resstancs|  Inductance Rotor inertia | Mass(Weight)
2-phase energization | current

| Single shaft |Doestel] N-m (ozin) MIN. |[Aphase{aphase] mH/phase | xi0%gmi(ozin?) | kgllbs) |
103H8221-5041 | -5011 2.74(388.0) 2 123 14 1.45(7.93) 1.5(3.31)
103H8221-5141 | -5111 2.74(388.0) 4 106 3.5 1.45(7.93) 1.5(3.31)
103H8221-5241 | -6211 2.74(388.0) 6 |03 1.65 1.45(7.93) 1.5(3.31)
103H8222-5041 | -5011 5.09(720.8) 2 127 23 2.9(15.86) 2.5(5.51)
103H8222-5141 | -6111 5.09(720.8) 4 107 5.7 2.9(15.86) 2.5(5.51)
103H8222-5241 | -6211 5.09(720.8) 6 |0.35 2.7 2.9(15.86) 2.5(5.51)
103H8223-5041 | -5011 7.44(1053.6) 2 |36 325 4.4(24.06) 3.5(7.72)
103H8223-5141 | -6111 7.44(1053.6) 4 109 8.1 4.4(24.06) 3.5(7.72)
103H8223-5241 | -6211 7.44(1053.6) 6 |0.45 3.4 4.4(24.06) 3.5(7.72)
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Sanyo constant current circuit

Source voltage: AC100V Operating current: 2A/phase, 2-phase energization (full-step)

Ju1=[7.4x10*kg-m? (40.46 0z-in?) Use the rubber coupling]
Ji2=[7.4x10"*kg-m? (40.46 oz-in?) Use the direct coupling]
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Sanyo constant current circuit

Source voltage: AC100V Operating current: 6A/phase, 2-phase energization (full-step)

Ju1=[15.3x10"*kg-m? (83.65 0z-in?) Use the rubber coupling]
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Sanyo constant current circuit

Source voltage: AC100V Operating current: 4A/phase, 2-phase energization (full-step)

Ju1=[15.3x10"*kg-m? (83.65 0z:in?) Use the rubber coupling]
JL2=[15.3x10"*kg-m? (83.65 0z:in?) Use the direct coupling]
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Sanyo constant current circuit

Source voltage: AC100V Operating current: 4A/phase, 2-phase energization (full-step)

Jui=[7.4x10*kg-m? (40.46 0z-in?) Use the rubber coupling]
JL2=[7.4x10*kg-m? (40.46 0z:in?) Use the direct coupling]
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Sanyo constant current circuit

Source voltage: AC100V Operating current: 2A/phase, 2-phase energization (full-step)

Ju1=[15.3x10"*kg-m? (83.65 0z-in?) Use the rubber coupling]
J12=[15.3x10"*kg-m? (83.65 0z-in?) Use the direct coupling]
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Sanyo constant current circuit

Source voltage: AC100V Operating current: 6A/phase, 2-phase energization (full-step)

Ju1=[15.3x10"*kg-m? (83.65 0z:in?) Use the rubber coupling]
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Specifications of

2-phase st

In-vacuum
stepping motor

2-phase
synchronous motor



